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Length

10

Section A: Multiple-Choice Questions (3 x 1 mark)

Choose the correct answer for each question and write its number in

the brackets provided.

1. The length of the arrow is
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2. Rope is the shortest:
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3. There are 4 flags. Flag A is longer than Flag B but shorter than Flag
C. Flag D is as long as Flag A. Which is the shortest Flag?
(1) A
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'Secﬁon B: Short Answer Questions (3 x 1 mark)

Write your answers in the spaces provided.
Look at the picture below o answer questions 4, 5 and 6.

112131415151713192321225.1:

4. Ribbon B is as long as Ribboen

5. Ribbon Ais cm longer than Ribbon C.

6. RibbonDis cm shorter than Ribbon A.




Section C: Word Problems (4 marks)

Answer: each question in the space provided. Your working must be

clearly shown.

7.

Sam is 124 cm tall,
He is 17 cm shorter than his brother.
What is his brother’s height? (2m)

His brother is cm.

Mrs Lee bought a string 115 cm fong.
She used 56 cm of it to tie a parcel.
What is the length of the string left? (2m)

The length of the string left is

Working

" Working



Mass

- Section A: Multiple-Choice Questions (3 x 1 mark) -

10

Choose the correct ahswer for each question and write its number in
the brackets provided.

.1.

The mass of the pear is
(1) 150
(2) 160
(3) 170

(4) 180




2.

10g 5g

The mass of the Can is
(1) 15
(2) 55

(3) 65

@ 120




The table below shows the mass of 4 boys.

Name of pupils Mass
Bryant . 23 kg
Caili _ 29Kkg
Eddie 34 kg
Jack . 36 kg

and have a total mass of 57 kg.

(1) PBryant and Eddie
(2) Bryant and Cdili
(3) Eddie and Jack

(4) Caili and Jack {



Section B: Short Answer Questions (3 x 1 mark)
Write your answers in the spaces provided.

Look af the picture below to answer questions 4, 5 and 6.
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4. The mass of the Tinis g.

B. The mass of the Box is qg.

6. The niass of the Box is heavier than the Tin by




Section C: Word Problems (4 marks)
Answer each question in the space provided. Your wor'kmg must be
clearly. shown. .

7. There are 3 containers.
Container X is 4 kg heavier than Container V.,
Container Y is 16 kg lighter than Container Z.
Container Z has a mass of 135 kg.
( Hint: Working backwards)

. Working
(a) What is the mass of Container Y? (2m)

Container Y is kq.

(b) What is the mass of Container X? (2m)

Container X is kg.




Multiplication Tables of 2 and 3 / Division

10

Section A: Multiple-Choice Questions (3 x 1 mark)
Choose the correct answer for each question and write its number in
the brackets provided.

1. 8groupsof3is

@ 5
(2) u
(3) 21

4) 24 (

2. 6 fwos is the satne as

1) 2+2
(2) 6+2
(3 2+2+2+2+2+2

(4) 6+6+6+6+6+6 : (

10



- 3. Billy hed 6 stamps. He gave all of them equally to his 2 friends. Each
' friend got: stamps.

M 3
(2) 4
(3) 8

(4) 12 ( )

Section B: Short Answer Questions (3 x 1 mark)
Write your answers in the spaces provided.

WO W W] | WO Y
WOW W W

. 4. Write a division sentence on the above grouping.

A A
5- If i}ﬂl}ﬁ%z?
Then 3% =

11



6.

The value of A is

Section C: Word Problems (4-marks)
Answer each question in.the space provided,

7.

Triere are 3 plates of cookies.
There are 7 cookies in each plate.

How_ many cookies are there in-ajl? Zm)

There are cookies in ail.
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Peter bought 18 marbles in a box,
He unpackeci all the marbles and put them equally into 2 bags.

How many marbles were there in each bag? (2m)

There were marbles in each bag.

13
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Length
Section A

11Q2T a3
2 |2 12

Section B
Q4) C
Q5) 3
Q6) 6

Section C
Q7) 124 + 17 = 141cm

Q8) 115 — 56 = 59¢m

Mass
Section A

QL[ Q2 | O3
2 |3 |1

Section B

Q4) 2209
Q5) 3509
Q6) 130g

Section C
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Q7) a) 133 - 16 = 119kg
b) 119 + 4 = 123kg

Multiplication Table of 2 and 3 / Division
Section A

QL] 02 Q3
4 3 |1

Section B
Q4)12+4=3
Q5) 9

Q6) 16

Section C
Q7) 3 x 7 = 21 cookies

Q8) 18 + 2 = 9 marbles
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